
 SPECIAL MENSURATION SET-1 BY ALOK SIR

1. A rect an gu lar plot 55 m long and 45 m broad, has two
con crete cross roads (of equal width) run ning in the
mid dle of it. One par al lel tot he length and the other
par al lel to the breadth. The rest of the pi lot is used as a
lawn. If the area of the lawn is 1911 m2, what is the width
of each of the cross roads?
Skeâ DeeÙeleekeâej huee@š 55 ceer0 uecyee leLee 45 ceer0 ÛeewÌ[e nw, Fmekesâ yeerÛeeW yeerÛe
kebâkeâjerš keâer Skeâ ›eâeme jesÌ[ nw, Skeâ meÌ[keâ uecyeeF& kesâ meceevlej leLee otmejer ÛeewÌ[eF&
kesâ meceevlej nw, hueeš keâe Mes<e Yeeie Skeâ uee@ve keâer lejn GheÙeesie efkeâÙee peelee nw, Ùeefo
uee@ve keâe #es$eheâue 1911 Jeie&ceeršj nw, lees jemles keâer ÛeewÌ[eF& keäÙee nesieer?
(a) 5m (b) 5.5m
(c) 6 m (d) 4 m
(e) 4.5 m

# STAY HOME # STAY SAFE By Alok Gupta Sir



 SPECIAL MENSURATION SET-1 BY ALOK SIR

2. The ar eas of a square and a rect an gle are equal. If the
length of the rect an gle is 8 m more than the side of the
square and its breadth is 6 m less than the side of the
square, what is the per im e ter of the rect an gle?
Skeâ Jeie& leLee Skeâ DeeÙele keâe #es$eheâue yejeyej nw, Ùeefo DeeÙele keâer uecyeeF& Jeie& keâer
uecyeeF& mes 8 ceeršj DeefOekeâ nw leLee ÛeewÌ[eF& Jeie& keâer Yegpee mes 6 ceer0 keâce nw, lees
DeeÙele keâe heefjceehe keäÙee nesiee?
(a) 100 m
(b) 96 m
(c) 110 m
(d) 80 m
(e) 120 m

# STAY HOME # STAY SAFE By Alok Gupta Sir



 SPECIAL MENSURATION SET-1 BY ALOK SIR

3. The ra tio of the base to the height of a right an gled
tri an gle is 4 : 5. If the area of the right an gled tri an gle is
80 cm2, what is the height of the tri an gle?
Ùeefo mecekeâesCe ef$eYegpe kesâ DeeOeej Deewj TBÛeeF& keâe Devegheele 4 : 5 nw, Ùeefo mecekeâesCe
ef$eYegpe keâe #es0 80 Jeie& mesceer nw, lees ef$eYegpe keâer TBÛeeF& keäÙee nw?
(a) 16 2 cm
(b) 10 cm
(c) 8 cm
(d) 20 cm
(e) 10 2 cm
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Direction : Study the following diagram to answer the
questions.

4. If the di am e ter of each cir cle is 14 cm and DC CE , the
area of  BDE is
Ùeefo ØelÙeskeâ Je=òe keâe JÙeeme 14 mesceer nw leLee DC CE , lees  BDE keâe #es$eheâue
nw
(a) 784 cm2 (b) 748 cm2

(c) 874 cm2 (d) 441 cm2

(e) none of these
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Direction : Study the following diagram to answer the
questions.

5. The area of the shaded re gion of square ABCD is

Jeie& ABCD kesâ ÚeBÙeeefkeâle efnmmes keâe #es$eheâue nw

(a) 186 cm2 (b) 168 cm2

(c) 188 cm2 (d) 441 cm2

(e) None of the above
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6. The area of cir cle is seven times the nu mer i cal value of
its cir cum fer ence. What is the cir cum fer ence of the
cir cle?
Je=òe keâe #es$eheâue Gmekeâer heefjefOe keâe 7 iegvee nw, Je=òe keâer heefjefOe yeleeDees?
(a) 616 units
(b) 88 units
(c) can not be determined
(d) None of these
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7. A rect an gu lar court yard 3.78 m long and 5.25 m broad is
to be paved ex actly with square tiles, all of the same size.
The min i mum num ber of such tiles is
Skeâ DeeÙeleekeâej cewoeve 3.78 ceer0 uecyee leLee 5.25 ceer0 ÛeewÌ[e nw, efpemeceW
Jeiee&keâej še@Fume efyeÉeveer nw, meYeer šeFume meceeve Deekeâej keâer nw, Fve šeFumeeW keâer
keâce mes keâce mebKÙee keäÙee nesieer?
(a) 430
(b) 440
(c) 450
(d) 460
(e) None of these
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8. The wheel of a mo tor car makes 1000 rev o lu tions in
mov ing 440 m. The di am e ter (in m) of the wheel is
Skeâ keâej keâe heefnÙee 440 ceer0 Ûeueves ceW 1000 Ûekeäkeâj ueieelee nw, heefnÙes keâe
JÙeeme (ceer0 meW) yeleeDeeW?
(a) 0.44
(b) 0.14
(c) 0.24
(d) 0.34
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9. The area of a rect an gle gets re duced by 9m2, if its length
is re duced by 5 m and breadth is in creased by 3 m. If we
in crease the length by 2 m and breadth by 3 m, the ara is
in creased by 67 m2. The  length of the rect an gle is :
Ùeefo DeeÙele keâer uecyeeF& 5 ceer0 keâce keâj oer peeleer nw leLee ÛeewÌ[eF& 3 ceer0 yeÌ{e oer
peeleer nw, lees DeeÙele keâe #es$eheâue 9 Jeie& ceeršj keâce nes peelee nw, Ùeefo uecyeeF& 2 ceer0
yeÌ{e oer peeleer nw, leLee ÛeewÌ[eF& 3 ceer0 yeÌ{e oer peeleer nw, lees DeeÙele keâe #es$e0 67
Jeie& ceeršj yeÌ{ peelee nw, DeeÙele keâer uecyeeF& nw :
(a) 9 m
(b) 15.6 m
(c) 17 m
(d) 16.5 m
(e) None of these
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10. If the length of a rect an gu lar field is in creased by 20%
and the breadth is re duced by 20% and the breadth is
re duced by 20%, the area of the rect an gle will be 192 m2.
What is the area of the orig i nal rect an gle?
Ùeefo DeeÙeleekeâej cewoeve keâer uecyeeF& ceW 20% keâer Je=efæ leLee ÛeewÌ[eF& ceW 20% keâceer
keâj oer peeleer nw, lees cewoeve keâe #es$eheâue 192 Jeie& ceeršj nesiee, JeemleefJekeâ DeeÙele
keâe #es$eheâue keäÙee nw?
(a) 184 m2

(b) 196 m2

(c) 204 m2

(d) 225 m2

(e) None of these
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11. In side a square plot, a cir cu lar gar den is de vel oped
which ex actly fits in the square plot and the di am e ter of
the gar den is equal to the side of the square plot which is
28 m. What is the area of the space left out in the square
plot af ter de vel op ing the gar den?
Skeâ Jeiee&keâej huee@š kesâ Devoj Skeâ Je=òeekeâej yeieerÛee yeveevee nw, pees efkeâ Jeiee&keâej
hueeš ceW efyeukegâue mener lejn Deelee nw, yeieerÛes keâe JÙeeme Jeiee&keâej hueeš keâer Yegpee kesâ
yejeyej nw, pees 28 ceer0 nw~ Jeiee&keâej hueeš ceW yeieerÛee yeveeves kesâ yeeo Mes<e Yeeie keâe
#es$eheâue yeleeDees?
(a) 98 m2

(b) 146 m2

(c) 84 m2

(d) 168 m2

(e) none of these
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12. Small est side of a right an gled tri an gle is 8 cm less than
the side of a square of per im e ter 56 cm. Sec ond larg est
side of the right an gled triangls is 4 cm less than the
length of rect an gle of area 96 cm2 and breadth 8 cm.
What is the larg est side of the right an gled tri an gle?
mecekeâesCe ef$eYegpe meyemes Úesšer Yegpee Skeâ Jeie& keâes Yegpee mes 8 Ssmeer keâce nw, efpemekeâe
heefjceehe 56 mesceer nw, mecekeâesCe ef$eYegpe keâer otmejer meyemes yeÌ[er Yegpee DeeÙele keâer
uecyeeF& mes 4 mesceer keâce nw, efpemekeâe #es$eheâue 96 mesceer2 leLee ÛeewÌ[eF& 8 mesceer nw~
mecekeâesCe ef$eYegpe keâer meyemes yeÌ[er Yegpee %eele keâjes?
(a) 20 cm
(b) 12 cm
(c) 10 cm
(d) 15 cm
(e) None of these
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13. The to tal area of a cir cle and a rect an gle  is equal to 1166
cm2. The di am e ter of the cir cle is 28 cm. What is the sum
of the cir cum fer ence of the  rect an gle, if the length of the
rect an gle is 25 cm?
Je=òe leLee DeeÙele keâe kegâue #es$eheâue 1166 mesceer2 nw~ Je=òe keâe JÙeeme 28 mesceer nw,
Gvekeâer heefjefOeÙeeW keâe Ùeesie keäÙee nesiee, Ùeefo DeeÙele keâer ue0 25 mesceer0 nw~
(a) 186 cm
(b) 182 cm
(c) 184 cm
(d) can not be determined
(e) None of these
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14. The small est side of a right an gled tri an gle is 6 cm and
sec ond larg est side is 8 cm. Side of a square is thrice the
larg est side fo the tri an gle. What is the di ag o nal of the
square?
mecekeâesCe ef$eYegpe keâer meyemes Úesšer Yegpee 6 mesceer nw, leLee otmejer meyemes yeÌ[er Yegpee 8
mesceer nw, Jeie& keâer Yegpee ef$eYegpe keâer meyemes yeÌ[er Yegpee mes leerve iegveer nw Jeie& keâe efJekeâCe&
%eele keâjes?
(a) 30 2 cm
(b) 60 2 cm
(c) 30 m
(d) can not be determined
(e) none of these
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15. The length of a rect an gle is twice the di am e ter of  a
cir cle. The cir cum fer ence of the cir cle is equal to the
area of a square of side 22 cm. What is the breadth of the
rect an gle if its per im e ter is 668 cm?
DeeÙele keâer uecyeeF& Je=òe kesâ JÙeeme keâer oesiegveer nw Je=òe keâer heefjefOe Jeie& kesâ #es0 kesâ
yejeyej nw, efpemekeâer Yegpee 22 mesceer nw, DeeÙele keâer ÛeewÌ[eF& %eele keâjes Ùeefo Fmekeâe
heefjceehe 668 mesceer nw~
(a) 24 cm
(b) 26 cm
(c) 52 cm
(d) can not be determined
(e) None of the above
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16. The per im e ter of a square is equal to twice the per im e ter
of a rect an gle of length 8 cm and breadth 7 cm. What is
the cir cum fer ence of a semi-cir cle whose di am e ter is
equal to the side of the square? (rounded off to the two
dec i mal places)
Skeâ Jeie& keâe heefjceehe Skeâ DeeÙele kesâ heefjceehe kesâ oesiegves kesâ yejeyej nw, efpemekeâer
uecyeeF& 8 mesceer leLee ÛeewÌ[eF& 7 mesceer nw~ Gme Deæ&Je=òe keâer heefjefOe %eele keâjes, efpemekeâe
JÙeeme Jeie& keâer Yegpee kesâ yejeyej nw~
(a) 38.57 cm
(b) 23.57 cm
(c) 42.46 cm
(d) 47.47 cm
(e) None of these
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